
10'766

501

$

е

10'766

$01

$

01$

уе8

8190э45

хянаонро

и1эоиио19

эинавиизэаА

`эцоиь

ио1

а

76'/6С

891

|-

й

76'/6С

891

|-

02$

Э1/20945

хчнэонэо

эпнанилиэои

эошопнь

6°р/р

уф

16-

-

61°

АУ

$1

16-

015

(007

`412

+

068

`912

+

088

`919

+

015

`Ч15

+

096

`912

+

05$

`@12

+

056

912

+

026

915)

ипевиляе

ииичаоэненифен

э

иипедэно

Е

2

-

20$

члчодпай

ен

гоиен

99°/9Ф

119

1/-

|

99°

/УУ

119

1/-

108

(061

'4шо

-

010

'9шэ)

впнажоидоогоиен

оф

шешчийкэа

пиянноппедено

99°

Уф

149

11-

=

99°/$

119

11-

00$

(Оу

`912

+
0уе

`915)

(20$

`919

-

оз

915)

целац/А=э4

ипчнноипедеано

и!ялэин

00'857

13

г

00'85$

18

16с

39005

и

чниитоц

‘ионен

Г7'956

587

|

2

у'95$

С87

|

лс

зоэецез

хянаиеидэлей

эинезоохое

10`265

СЭС

т

Е

10`26с

с9с

т

ыЫе

випези1дои\у

15'090

16

т

15'090

16

99

"

эидоф

ионжэна!

а

Аненоэдэи

иипеэнгииоя

и

видоэоц

эчняиеипо)

00'С8УФ

=

00'С8У

У

155

эинезохе9

15

68'/9

615

-

68'/59

616

9сс

иЗАНЭАЛ

‘910084

эиьоч|

|

00'869

642

с

=

00'869

6/2

с

сес

еа1оэтАти

чинежаэ!

05

ош

изАцох

ча1одед

815/16

$75

6

й

81216

576

6

ЕСС

ИзАНЭЛ

эчнацненАииоу

$2'890

26

г

$2'890

6

СС

ИЕваэ

изАНОХ

58'665

606

=

98'296

606

ФС

эиаоф

иончиедАтен

а

Аненоэ4эи

члецшав

эянацеиноээн

эиноа!

|

05'Эус

887

9

=

05‘9ус

887

9

вс

еЛа1

эленио

оц

чения

ен

винацоинен

00'00$

$

=

00'00$

$6

ес

эидоф

ионжэна!

а

Аненоэдэи

ялешизча

эянацеиноээн

эиноЧ!

|

6/`681

159

12

-

6/'681

179

15

С

елеци

вен1оде4де$

‹эиоив

Ио:

а

$50

6
ИР

=

ЕЕ

501

161

17

005

091

'9охэез

95016

615

-

95'015

612

96}

(е4о1хаэ

олоннев14е!

Ао.

иипезине:

90

и

винаизеди/А

олоннаа1о4е!

Аэо1

едоляээ

изинэвоихлои

е=)

ципезине:940

10

едэлхедех

олончиелицех

вкинаци/А1эоц

эюнжэнатэн

эчн'еэи08$э9

11'696

$71

-

11696

67|

661

2401399

озоннэя14е

Ао.

иипезине:а0

и

винаэнавеацА

олоннэз1оден

‘оо!

2401495

10

е4элхедех

олончиелицех

кинэниА1ооц

эчнжанаУэн

эчнзэи=оя$эа

УУ'850

515

0$-

в

У7'850

61$

0$-

911

8193иэ1е5500

и

возилхе

изнапо

10

чб

охо[]

78'2/8

089

ь

78'©18

089

991

(е4о1яээ

озоннаа1де!Аэол

иипезинелао

и

кинзиаедцА

олонназоденкоо1

е401хээ

мэинэноихои

е=)

волнатиеэ4

жани

10

едэаяедех

олэтАхэл

винэниА190]

|

00'15$

058

$

й

00'15$

058

$

ГИ5

(10929)

зАчэл

хаянлени

винезехо

10

эчохо[?

`эноив

ио1

а

55'рув

08У

УС-

=

Е56'РУС

ОЗУ

УС-

001

010

'чпохоП

э

5

У

$

с

|

иинежвнаоноеа

ч1оончиа1кай

олоИ

ионнэиэаа

оа

ез15'7э45

та

и
ие

`

Неси

$85

ИЗО

он

`ОЛ

:кинедэиеи

епини?з

везо1о:

:ч1оонниоида|

|

10010120952

ОО

оч

еноиед

и

одие!поч

‘1

винезоеедо

олончиеципинАм

1эжо9

(виневоедоо

оловояеди-онвииоАи)

елэж!о!9

эинезонаииен!

$06

9
оц

езвц

|

„ПООП,

ОП

АЯИ

е1эж!

019

елипифэ!

кинезодиэнениф

1751005088

ННИ

золиньо1ои

Чоледтэинии!е

‘4оледлоинии!е

иянаец

6055СУбУ

ОЦЗО

©

‘е1эжо9

зоохо!

4оледлоинии!е

‘доледлоиниие

ичнаен

‘91979495

жянлеж!

оо

чиэлеьАноц

‘анали

кдоноед

‘чиэлиуваоноеа

ианзенц

|

05`10`10

елей

‘’

ггог

ваеванк

|ен

1215060

Око

оу

еи4оф

1900

И1ЭОН9и34

830

ХУ

19

ЦА$34

ХАаОЭнУНИХ

О

195410



-

Е

ь

055

НУ

зозияе

жазоэнениф

жани

и1оиио12

эинавинаал^

‹эноин

ио1

8

=

=

-

0/7

эоэпшяе

хчэоэненпф

жаянп

эпнацниИшэоон

эошэпь]

т

-

-

079

г97

ивинезоа1оиие$

иияннаиузелоотэду

оц

и1эоннежно!е

эинатянаил

з

=

-

075

оф

ивинезозлошиее

ипаннауаелоо\э4ц

оц

илэоннажиове:

эинэвицэзА^

:эцэиь

ио1

а

р

-

-

097

ппнеэоэшоипеЕ

эпнаиэешообэаи

эошэпь]

-

-

-

059

25

эо1нэиАдлэни

хчаоэнениф

жани

и

иипхе

и1ойио19

эинатчнашл

-

-

-

0556

47

зо1нэиАдлони

хчаоэнениф

жани

и

иипяе

и1оиио12

эинэвинэзл

:эноин

ио1

8

ь

-

-

057

эошнаилашэонп

жячэоэненпф

жанп

п

пппяе

эпнанилшэои

эошэпь]

=

-

-

029

СУ

эо1наиАдлэни

хчаоэнениф

хани

и

иипяе

эмодх

‘1ейАд

ханнай

и1эомио1о

эинатянаил

-

-

-

025

РРР

зо4неиАалэни

хэчвоэнениф

жани

и

иипхе

эиодя

‘гейАд

ханнэп

илэомио1о

эинэвинэял^

:эноив

ио1

8

ь

-

-

077

ппихе

эмодх

‘гви/д

маннай

эпнаниИшоон

эошэпь|

28'116

0/1

УФ

1761

65'860

99/1

У

0:9

СР

золнэцезизяе

хи

и

815\э45

жянжэна!й

эиичояз

26'06$

109

1961

У

СО'ЕЕЕ

166

$

015

ЕР

зо1нэцезиаяе

хи

и

812\7э45

жянжэенэ!

эинэниАлоонц

:энэив

ио1

а

05'/26

891

0$-

-

05'/26

891

0т-

057

эошнаиеэпэхе

хп

п

эи1э60945

жянжанао

эпнацилшоои

эошэпь

48'05$

ОС+

0У-

ы

18'05$

0С+

0У-

057

(ОЗУ

`912

+

0/7

`912

+

097

`Ч12

+

05$

`Ч12

+
Офф

`919

+

057

'915)

ииезилуе

ииичаоэнениф

э

иипедэцо

18'616

665

0У-

р

18'616

965

0У-

ОУ

(01$

`912

-

Оф

`412)

иие8193иэе=кноо

и

имезиляе

ииичаоэнениф

э

иипедэио

-

-

-

х

007

эорбопдэи

хпт/ол9

чбохэе4

-

-

-

х

265

1е41е$

эинэтянайл

о

г

-

х

165

1е4е;

эинэвицезд

`эцоин

ио1

а

о

-

-

06

гЛиЭл

‘шоде4

эпнеэниошяэ

‘пппхАроди

поэошог

эпнаизошогеп

ен

шеашее

эпнэнаиеп

эошэпь

Е

-

-

ХР

218

кинезозчноц

аваи

и1э0йио1)

эинэтянэаи^

=

-

-

Хе

16

винезо$чноц

аедиц

и1э0\ио1

эинэвинэал^

`

‹эцоин

ио1

а

Е

-

-

0/16

впнеэоёчиои

эеди

эпнаниАшэон

эошэопн

:эноин

ио1

а

|у'9ЕУ

629+

-

|у’
ОЕУ

6СУ

|

077

29

зоэеце;

жянчяиеидэеи

и1оиио1о

эинатчянаил

:эцоин

Ио:

а

|

00'10$

176

ь

-

00'108

176

075

|195

эоэвие$

хянчиеидэлей

и1оиио1)

эинэвицэзл^

`эцоин

ио1

8

66'798

Л;

-

66'798

ЛИ;

095

эоэвиеё

хянчиепаэшей

эпнациилшэои

эошэпь|

$у'860

6/6

0$

-

$7'880

616

05

ХЕ?

2с5

зовилхе

хчнна!эазиодиэн

и1оиио1о

эинэтянайл

-

-

-

055

155

аозилхе

хяннаэязиодиэн

и1ойио12

эинавинэал

`эмоин

июл

а

$7'8$0

6/6

0$-

-

$7'850

6/6

0$-

058

эоэпшхе

ханнэбээёподиан

эпнаииИшэон

эошоп,]

-

-

-

Хер

255

аовилхе

хчнчиеидэлейэн

и1ойио12

эинатянайл

-

-

-

025

58

вовилхе

хянчяиеидэеиен

и1эоиио1о

эинэвицэяА

`эцоин

иол

а

и

-

-

058

эоэпшяе

хянчиепаэшетэн

эпнаиилшрои

эошопн|

10'26г

292

У

-

10'е6е

г9ет

ХЕ’

ао

819\7э45

жянаоноо

изэоиио15

эинеэтчнейл



(неш-а

‘нофэмиэ1)

(изицон

еяводфитоеа)

пгиеш@бупа

араоп

'/у62с(19965)8

(изииоц

езвзодфитоеа)

(азиш

оц)

езэтеио!“

"И

27

(эинэ5жохено1эи

‘ЦИХ‘ННИ

‘НаЮ

‘эиневонаииен)

езэтейис1“

ИИ
(алоонжно?)

2202

виедвэф

сс

(чоин

он)

(алоонжио!)

7277

их

эилелхАд

ичнаеи

(
и

эналиниоцэи

(изицон

ехводфитоеда)

(азиш!

оц),

еяэтеис!

‘/‘И

/

4энлелхАд

ичнаем

|
Чоллэди

(опии

эоннавомонноцА)

чнэлиовохА‹

65‘озохпидд

`ЫА

'одие!о9

`1

'0010508$'850510508$

'6/70005085801

„О

ЗП,

АИ

вп4эшиегх/9

неннеэокпивашнэей

`
ссос

виедаэф

сс

(изиш!

оц

елводфитоеа)

(азии

оц)

нидо

|̀
©4"С

анали

ояохАз

#

г

Я

х

096

эобохэеа

хптвошэобади

199459

г

Е

й

х

055

эобопаэи

хпт/ол9

1чеохо[’

‘596

207

17

17'615

Ф

8/'676

168

(7

058

78

`

итооннажино!е$;

иохэдолиэ4хя

иэводи

эинэтянаил

$0881

168

(7

17'618

У

8/'89$

$56

/7

08/1

руб

игооннажио

ея

иоходоли!эая

иэводи

эинэвицэяА

:эцоив

ио1

8

00'656

651

-

00'65$

981

076

пшэоннажиобе#

похяэдоштоаах

пэводи

эпнэвпиээл

эошэпь|

=

г:

ы

058

685

ивинезоз1оиие$

инаннаваиаиду

иинтана

оц

и1эоннажно

е;

эинатянаил^

-

Е

-

05/1

156

ивинезоа1омие$

иняннавауаидиу

иинтана

оц

илэоннэжно!е$

эинэвинэзл^

:эноиь

ио1

8

й

ы

й

055

ивпнеэоэшоипе:

иианнавэиэпаи

ипнтэнэ

ои

пшооннэжиоре=

эпнавпиээл

эошоп,]|

>

Е

=

018

сс8

ивинеаозлощиее$

инаннэнаизиади

ииннэ41Ана

оц

илооннажио!е;

эинэтчнейл

Е

р

01/

еб

ивинезовлощиее

иняннакэивийи

ииннад4Ана

оц

илооннажно!

ее:

эинэвинэал

:эмоив

ио1

8

и

=

й

025

ивпнеэоэшэоите:

иияннаваиэпаи

ипннадшАнэ

ои

пшэоннажиоре:

эпнэьпиээ/

эошэпь

00'656

681

2

00'625

551

015

(09$

`412

+

056

`412

+

076

`412

+

056

`912

+

026

`419)

имевлочиэленоо

э

иипедэцо

СЕ'1бС

096

8

:

216$

096

8

099

87

и1ооннажио!е$

иоходо1идэ!

иэноди

эинатянаил

56'/98

800

6

-

56'/98

800

6

09$

|87

и1эоннажиное$

иоходолидэ!

иэноац

эинавицэзА^

:эцоиь

ио1

8

СУ‘

ЭЛ

87

р

СУ'9ЛУ

87

087

пшэоннажиобе=

похэдошптдэо

пэводи

эпнэьпиээ^

эошэпь]

ь

_

-

059

СИР

эозилхе

хяавоэнениф

хани

и1э0\ио19

эинэтянаил


